\J
YP'OY EN1176-1:2017
EN1176-11:2014

CONE CLIMBER 24005SAFE
- (AN TAY- CC05-CC2400SAFE-00
Q

111111

TAY- CC05-CC2400SAFE-00 1



/

b =—0 o005

>

SW82702
SW82146
SW82141
SW82016
TAY-51212
SW82018
M8x100 A2 CSK SCS
SW81995
SW82124
SW81996

M8 A2 NYLOC

SW82130

TAY- CC05-CC2400SAFE-00

14kg

26kg

13kg

kg

34kg

kg

3kg

kg

14 @? M10x40
49 @ T00844
28 @? M10x35
42 1ISO7089 5x20x2
49 o M10 BZP NYLOC
(S6 (s14 (s13 )
J 3
;5-' A ‘
1 3
FIH XX
EN1176 m? m?3
1500mm 29.22 0.5
\ \ A J
(s15 (s23 (s20 i )
|
©) I
2 ||
74lIP-§
|
LxWxH (m) !
61%x6.1x2.4 T30H 8 X 24
\ J
(s12
kg
134




SW82702

SW82123

SW82146

TAY- CC05-CC2400SAFE-00

SW82016

SW82018

SW82141

SW82018

0

O
L o)}

&3

TAY-51212



SW82146

SW82123

TAY- CC05-CC2400SAFE-00

SW82130



SW82123 =

-»)
M8x100 A2 CSK SCS

SW81995 /
SW82124 \

SW81996
M8 A2 NYLOC
©
(4 ©
TayplaY

TAY- CC05-CC2400SAFE-00



90DEG

00L9

1500mm
FH

194 (0[0]}

99¢¢ 0S¢ 00g

\2_
TayplaY

TAY- CC05-CC2400SAFE-00



S12

kg
36

SW82018

SW81995

SW81996

TAY- CC05-CC2400SAFE-00



P
S22

o
M8x100 A2 CSK SCS
N~ — 1]
A/ ' (
SW81996 N4 SW81996 \@
Me<~—— ' M<e——]
M8 A2 NYLOC /

\2_

2
TayplaY

TAY- CC05-CC2400SAFE-00



\2_
TayplaY

TAY- CC05-CC2400SAFE-00



(s12

kg

TAY- CC05-CC2400SAFE-00

SW82141

SW82146

SW82124

SW82130

10



OJOJOJIO,

TAY- CC05-CC2400SAFE-00

1000

1000

o o
L Ln
(4p) (e0]
P .
SNNNNNNNNNNN NANNNNNNNAY
SNNNNNNNNNN NANNNANNNN
NANNNNNANNYN NANNNANNNN
NANNNNNNNN NANNNANNNY
NN NANNNNNNNN NS
SNNNNNNNANNN NANNNANNNN
NANNNNNNNNNN NANNNANNNN
Py NNUNNNNNNNNY NANNNANNNN
\ww - NANNNNNNN
NNNNNNNNNNN NANNNANANN
SNNNNNNNNNN NANNN AN
NANNNNNANNYN NANNNANNNY
NANNNNNNNNNN NANNNNNNN
SNNNNNNNNNN NANNNNNNN
o NANNNNNNNN NANNNANNNN
o NANNNNNANNN NANNNANNNN
NANNNNNNNNNN NANNNNNNNN
N NNNNNNNNNNN NANNNANANN
NANNNNNNNN NANNNANNANY
NANNNNNNNNNN NANNNANNNN
QNN NNNNNNNN NANNNANNNN
m SAONNNNNNNN SAONNNANNNN Ya
& NNSSSSSNSSN SNSNSSSSSSN <

NANNNNNNANNN
NONNNNNNNN
NONNNNNNNNN
NOANNNNNNANNN
NNNNNNNNNANN
NONNNNNNNNN

AANANANANNNNNNNNNNNNNNNNNNNNNN
AANALLLANNNANNNN NN NNNNNNNNNNANN
AANANTLLANNANNNN NN NNNNNNNNNNANN
AANANNANNNNNNNNNNNNNNNNNNNNNN
AANANANANNNNNNNNNNNNNNNNNNNNNN
AANALLLANNANNNN NN NNNNNNNNNNANN

NONNNNNNNN
NONNNNNNNNN
NOANNNNNANANN
NONNNNNNANNN
NONNNNANNNN

1000

AN

fany

11



TAY- CC05-CC2400SAFE -00

350

90DEG

— SW82018

SW81996

750

500

p
S22

NNNNNNNANANN NNNNNANN
NONNNNNANANN NNNNNANN
NONNNNNANANN NNNNNANN
NANNNNNNANN NN
NANNNNNANN NNNNNANN
SNNNNNNNANN NNNNNANN
N N NN NNNANN NNNNNANN
NNNNNNANN NNNNNANN
— - NNNNNANN
NONNNNNANANN o NNNNNANN
NONNNNNANANN NNNNNANN
NNNNNNNNNY NN (@)
NNNNNNNANANN NNNNNANN O
NNN NN NNNANN NNNNNANN
NONNNNNANANN NNNNNANN —
NONNNNNANANN NNNNNANN
NNNNNNNANANN NNNNNANN
NONNNNNANANN NNNNNANN
NONN N NN NNANANN NNNNNANN
NNNNNNNNANN
NNNNNNNANANN NNNNNANN
NNNNNNNANANN NNNNNANN
N T T T T T T T T T T T T T RIS TTII”
NN N NN NN
ANTAT AL LTLTT AT A NI ALT AN NN NN AN AN NN N N NN NN NNNNNNNNNNANNANN
AAAT AT LU LT AN NN AT AN AT AN NN AN NN AN NANNN N NN NNNNNNNNNNNNNNYN

12



30N/mm?

500

1000

350

NN
NN
NN
NN
AN
NN
AN
NN

90DEG

—— SW82018

7 x 24h

0.5m?

30N/mm?

SW81996

750

NANNNNNNANY

500

7 s 77

777

NN
NN
NN
NN
NN
NN
AN
NN
AN
NN
NN
NN
NN

100

TAY- CC05-CC2400SAFE-00

7
7

Va4
s

NN

NN
AN

13



TAY- CC05-CC2400SAFE-00

90DEG

O

— SW82018

SW81996

o
C) = [Yp)
Lo N
™
SAAANANANNNANNNNN NN NAALAANANANAN AN NN
AR ANANLNNNNNNNN AN NN NN AALNLAANNNNN NN
NAANAUALNANNNNNN NN NAALAANANANAN AN NN
N N NANAALNLAANNNNNNNNNY
NANALANNANNNNNN NN NAALAANANNNANAN NN
R R R Y AR AL AANANANAN AN NN
R R R R R AR NN
SAR AL ANNNNANNNN NN NAALAANANANAN AN NN
NN
NANNNANNN ° NANNNNANN
NNNNNNNNN NANNNNANN
SNNNNNNNNNN NN O
SNNANANANN NANNNNANN o
o SNNNNANNNN NN
NANNNNNNN NANNNNANN —
o NANNNNNAN NANNNNANN
D NNNNNANNNN NANNANANN
NN NANNNNANN
SNNNNNNNNNY NANNNNANN
NANNNANNNN
NN SNSANAN
NN NN

NNNNNANN
NNNNAN
SNNNNANN
NANNNNANN

NANANNNNNANY
NANANNNNANY
NANANNNNNANY
NANNNNNNNANNY

AAANANNNNNNNNNNNNNNNNY
AAANANANNNNNNNNNNNNNANY
AAANNNANNNNNNNNNNNNNNY
AN AN UNANNN NN NNNNNN NN

NN NANAN
NNNNANANN
NANNNNNANN
NANNNNANN

14



SW82146
Yo

M10x40

M10x35
ISO7089 5x20x2 — |

M10 BZP NYLOC —

\ — 1507089 5x20x2

T00844

()

TAY- CC05-CC2400SAFE-00 15



14

42

28

42

42

- BVOR

M10x40

T00844

M10x35

1SO7089 5x20x2
SW82146
M10 BZP NYLOC

SW82124

SW82141

TAY- CC05-CC2400SAFE-00

16



TAY- CC05-CC2400SAFE-00

M8x100 A2 CSK SCS \

SW82124

©

SW81995

SW81996

17



SW82018
M8x100 A2 CSK SCS {I H
SW81995 ( )
SW81996 ——
SW82124 —1——
J 1]
M8 A2 NYLOC e
\2_
A
TayplaY

TAY- CC05-CC2400SAFE-00

SW82123

18



e
e
i

SW82141

SW82018 ——————

sSw82123 ———F—=—=

=T

TAY- CC05-CC2400SAFE-00



SW82141

SW82018

435

TAY- CC05-CC2400SAFE-00

SW82123

p
S22

20



TAY- CC05-CC2400SAFE-00



L~ SW82016

And

L TAY-51212 SW82702
— SW82018
SW82141
/ ;
1 2 : a— \
0 SW82123 0
< <

TAY- CC05-CC2400SAFE-00

21



) { ; »

A| <
> L
33

- | T /‘I@n\ﬂ«ﬁmsW/uﬁ.Wu\i
SARA
Ny

\
‘\//\A\!VN\\\ :

—
-

SW82232

SW82233 ,
M6x25 A2

21

TAY- CC05-CC2400SAFE-00

\2_;
TayplaY



SW82146

x

SW82130

\2_
TayplaY

TAY- CC05-CC2400SAFE-00



M10x40

22/ ©oe _ / )
5 5 = 0—-—

TAY- CC05-CC2400SAFE-00 22



Lx SW82232 2 )
o
L1->L7
SW82233 7
M6éx25 A2
\ L1
\2_
2
TayplaY
TAY- CC05-CC2400SAFE-00 23



N
\
L1 S
L7
TP
A
TayplaY

TAY- CC05-CC2400SAFE-00







TAY- CC05-CC2400SAFE-00



SW82232

S
T

M6x25 A2

'«
o

Nm
onm || L8->L14 |

TAY- CC05-CC2400SAFE-00

25



TAY- CC05-CC2400SAFE-00

27



\2_
A
TayplaY

TAY- CC05-CC2400SAFE-00 28



Tayplay Ltd
13A Riverview Business Park
Friarton Road

Perth Tel:
PH2 8DF Email:
Scotland Web:

TAY- CC05-CC2400SAFE-00

+44 (0) 1738 449 084
info@tayplay.com
www.tayplay.com

29



